
SET 2

SET 3

SET 1

SHEET: 1/2

POS. CODE QTY DESCRIPTION
1,10 

(SET 1)
42049 1 RIGHT+LEFT HANDLE 

2 42050 1
CABLE WITH PLUG 
H05VV-F2X1MM²

3 42051 1 CABLE SLEEVE

4 42052 1 CABLE PLATE
5 42596 2 SCREW ST4.2X14
6 42053 2 TERMINAL 
7 42054 1 CAPACITANCE 0.22ΜF
8 42055 1 INDICATOR LAMP

9 42056 1
INDICATOR-LAMP 

COVER
11 42603 6 SCREW ST4.2X16
12 42604 1 SCREW ST4.2X25
13 42605 2 SCREW ST4.2X22
14 42607 1 BEARING 6000-2Z

15 42057 1
SELF-LOCKING 

SPRING 
16 42058 1 SELF-LOCKING PLATE

17 42059 2
CIRCLIP FOR SHAFT 

12
18 42060 1 ARMATURE
19 42625 2 SCREW ST4.8X65
20 42061 1 SWITCH
21 42062 1 AIR BAFFLE PLATE

22-24
(SET 2)

42063 1 STATOR

25 42064 1 BEARING 607-2Z

ART. NUMBER: 41343
MODEL: CIRCULAR SAW CS 55/1200 PLUS

CIRCULAR SAW CS 55/1200 PLUS - VERS.1



POS. CODE QTY DESCRIPTION
26 42065 1 BEARING SLEEVE 
27 42066 1 HOUSING 
28 42626 1 NAME PLATE
29 42067 2 BRUSH HOLDER
30 42068 2 CARBON BRUSH
31 42069 2 BRUSH CAP 

32+54
(SET 3)

42070 1 GEAR BOX COVER

33 42071 1 SCREW M6X16
34 42072 1 OUTER PLATE
35 1 SAW BLADE
36 42073 1 INNER PLATE
37 42646 3 SCREW M4X8

38 42654 1
MOVABLE GUARD 

PLATE
39 42075 1 SCREW M4X12

40 42076 1
MOVABLE GUARD  

SPANNER
41 42074 1 MOVABLE GUARD   
42 42078 1 REPOSITION SPRING 
43 42079 1 SPINDLE
44 42080 1 KEY 3X10X3.7
45 42658 1 BEARING 6001-2Z
46 42666 3 SCREW M5X10
47 42081 1 FRONT COVER

48 42082 1
GEAR POSITION STEEL 

SLEEVE 18X12X8
49 42083 1 GEAR  

POS. CODE QTY DESCRIPTION
50 42084 1 WAVE WASHER 12
51 42085 1 OIL BEARING 14X8X8
52 42077 4 SCREW ST4.8X25
53 42086 4 NUT M4
55 42087 1 SCREW M4X22
56 42668 3 WASHER 4
57 42669 2 SCREW M4X18
58 42704 1 SCREW M4X14
59 42705 2 WASHER 6X14X1.5
60 42088 1 SPECIAL NUT M6
61 42089 1 DEPTH WRENCH 
62 42090 1 CIRCLIP
63 42091 1 GUIDE RULER
64 42092 1 WRENCH 5
65 42093 1 DEPTH GAUGE
66 42094 2 RIVET 6X7
67 42095 1 BASE PLATE
68 42096 1 SCREW M6X18
69 42097 1 LOWER GUARD SHAFT 
70 42098 1 BOLT M6X16
71 42099 1  PIN 6X40 
72 42100 1 KNOB A

73 42101 1
ANGLE CUTTING 

FRAME
74 42102 1 KNOB B
75 42103 1 BOLT M6X12

ART. NUMBER: 41343
MODEL: CIRCULAR SAW CS 55/1200 PLUSSHEET: 2/2

CIRCULAR SAW CS 55/1200 PLUS - VERS.1


